1 AvrioroixiCw Ta ioa pAkn:

. e 5.000 péTpa
6,03 pétpa HETP
1 ,
TOU pETPOU * * luépo
1.000
603 ekaTooTOUETPA
1.000 x1AiooTOpETPA * * HETP
e 15 puéTpa
5 xIMopeTpa ’ HETP
, . e 1 xi1MooTépETPO
15 dekaTopeTpa
2.2UUTAnpwvwW ToOV Trivaka:
MéTpa Aékara EkatooTd XiAhlooTd
37
456
180,4
43.900

3. Kavw T11¢ peTaTpoTéc:

X emi 10, 100 r 1.000

Bu.=....EK.
7.20.=......0€K.
0,Bu.=......XIA.
200¢eK.=........EK.
350¢eK.=........XIA.
2,80¢eK.=.......EK.
24eK.=........ XIA.

: 01a 10,100 h 1.000

500¢k.=........H.
48eK.=........... .
784xIA=........H.
890¢eK.=...........H.
24¢K.=.........0EK,
350xIA=........ O¢K.

67XIA=.........EK.




